1437 (

3.1

(1)
1437

mozme+md

( 1437 )

1437 )

@

m, = m, + My

3.1

(2)

[

550
3/ ]

® )
( )

[ ]
3
m, A [ 1 (2-1)
AR
[ 1
] 550
m,  550aA, [ 1 (2-2)
aAc
Ae
aAc
(
aA.)
[
50Pa
Ay m, 550aA, @)
3.2a) [ ]
( )/ 1
@
aA.
550
60
A:[550 aA, A./60 €))



3.2b)

@ me
Ar 550aA.
aA:. Ag/60
3.2a)
3.2b)
3.2¢) c)
a) Ay m, 550aA,
m.
T A m,  550aA. ( (2)
. = SETUIme AR ()
_— aA.
b) A/550 aA, A,/60
m, aA,=An/550 A, =An/60
m/ ) Ve
T A./550 aA,  A/FO ( @)
O A/550 — S A./60 aA,
!
c)a) b)
m, aA,=Ap/550
3
7/ ) aA,=An/60
[ | 1m SW
. T L Ime Al ey)
A/550 — S A.760 aA,
3.2
3)
m (2)
my my

my
DP
Me aAe
DP
&l m 62 r
DP = x—2 + x— 4
§& aA.g 2 “
r (=1.2kg/ 3)
DP aAe
Me
DP
(2)
[ 1 @1 @
DP
A 1 ] (4-1)
6000 aA’
[ 1
DP
aA.
[ ] 2-2) @)
DP 50 [ 1 (4-2)
[ ]
50Pa
(4-1) (4-2)
3.3
DP [ ]DP 50 ( (4-2
(Pa)
\
\
\\ AZ |1
\[\/\ ] 6000>‘E( (4-1)
Ry — iy, B aA,

3.3

DP



me.m,
(m'/ )

m, = 60%aA, r3><le> (5)
aAq DP
(4-1)  (4-2)
1
My ARRA>x— [ ] (5-1)
ah
m, 550aA, [ ] (5-2)
Mo (1) Me
My
m, =m, +m, «c )y @
[ 1
(2-1) (5-1) [ 1
(2-2) (5-2)
(¢H)
x 1 0
m, lvaA,x—2 [ 1 (6-1)
ARg A ah g
m, 550@A, +aA) [ 1 (6-2)
3.2¢)
3.4 3.4a)
3.2¢)
3.4b)
a) me My
Me Mo a( (6-2 -
m/ )
a( (6-1
[ | 1( @2
. |
< _ X == —= == — — -
, ~ [ 1de
AR/550 ——— 5, A/60 aA,
1
b) Mo

— 1 _ _ | 6
O "AL/550 — 5 A./60 aA,
3.4
3.2
(1)
3.1
aAy
0.002
)
1,500




3.1 (6-1)
(6-2) alq
aAch ose

& 10
m, AR§1+aAjclose: Ea% = [ ] (7'1)
7]

mo 550(aAiclose+ apé) [ 1 (7_2)

3.5

[ ]
(6-1) ahAy
aAdopen
aAchose
(6-1)
& 10
1+a open x_: [ ] 8-1
m, A@ Avop A (8-1)
[ 1
(6-2)
aAq aAdciose

mo 550(a'%close + ap\a) [ ] (8'2)

3) (7-2)

7-1)  (7-2) 3.6a)
(8-1)
(8-2) 3.6b) 3.6a)
3.4b) 3.6b)



Me.Mo ~
W ( 6-2),7 A
3.6b) (7] e
[ 11 1 o |
~
\k]_ g ) Rl et
1 ey (-1
a) b) Ag/550 +——— Ag/60 aA,
DP [ 1 (| @-2)
(Pa)
[ 1 | [ ]
- [] I:I
b) o ) \\\
a { ] ( (4-1)
Vo L]
° AR/550 —>A:/EO ______ ah,
3.6
3.6
[ ] (4)
3.2(3)
[ ]
500
15
[ 1]
a
a) (a=0.7) (a=0.35)
3.1
el ] 1 ;{
m/ ) ( (7-2) : ]/ ( 2-2) 3.1
| A, 500 15
2 1.89 x 2 1.89 x 2
[ ] [ ] C )l C Y 1C D>l C )
_ .F____—__—__—_.=_—__—__' 0.005 | 0.35,0.7 | 0.005 | 0.35,0.7
2l M ] ( -1 ah, 500 15
AR/550 ———> A;/60 aA. « ) C )
0.001 0.001
DP _
oe [ ( |e-2)
\ 3.7
Vo] L
L]
\ 4-1
\[\\/\] O] ( (4-1)
° Ar/550 —_>_A:/Eo ______ e;Ae 3.7b ,c
b) [ 1




(a=0.35)
[ 1 [1
[ ]
3.7¢e
L 1
(8-1)) AL/550 aA, A,/60
] ( B-2)
3.7f
3.3

(a=0.7)

1437

MCEEEREE:

O Ll

w W

NN N

[Pa]
1.2 [kg/

el b

]



5000
4000
3000
2000

1000

b)

5000
4000
3000
2000

1000

c)
5000
4000
3000
2000

1000

Ar 500
3
‘‘‘‘‘‘‘‘‘‘‘‘‘‘ \\
[ 1
......................................... ( (2_2))
,,,,,,,,,,,,,, I G )
P (2-1))
AR/550 Ag/200  Ap/100 Ar/60  AR/50
aAe
a 0.35
]
( (2-2)
(" (8-1))
Q
AR/550 Ap/200  Ap/100 Ar/60  AR/50
aAe
a 0.7
]
( (2-2)
|
( (8-1)
( (2-1))
Ag/550 Ap/200  Ag/100 AR/60  AR/50
a Ae

Ar 15

d)

250

200 |

150

100

50 |

AR/60 A /50

e) a

250

200

150

100

50

0 AL T £ 7
Ar/550 Ar/200 Ar/100 Ar/60  AR/50

250

lro
Lo XeD] N\ e

................ ; i N \

L] ( (8,52»,%

200

150

100

50

O C T 7T
AR/550 Ag/200  Ag/100 AR/60  Ag/50

a Ae

3.7




